06 01 26

2
G )
2,617 | 2,546| | o | n| | 0 2.71
R4 RS R6
2,442 R4 2,800 R6
2442 2621 2800
2,442 H30
0 R4 18 R6
R&A R6 x 100 0 2 18
R4 0 RS 11 R6 100
0 R4 100 R6
0 80 100
0 RL

1 0000541474



R04 |R05 [R06 [RO7 [RO8

A02-001 ~10m 16 17 100 L a|nm 39
=380
A02-002 ~om 12 13 9 L= a|nm 42
330
A02-003 ~13n 10 -3 L=296 a|nm 108
A02-004 16 x 150 | . | . | . | | 62| |
A02-005 ~10m SOLAS L=280m = | = 270
A02-006 -5.5n 23 5.5 L= [ 24
195
A02-007 7 10 x 600 | . | . | . | | 48| |

0000541474




R04 |R05 [R06 [RO7 [RO8

£A02-008 N=2 . 220
A=1,000m2
£02-009 1.0ha a|nm 196
A02-010 7.2ha . | . | . | | 943| |
A02-011 L=260 [ 15
A02-012 3 v=2,230m3 [ 30
A02-013 ~7.5m 26 75 L= [ 27
161
A02-014 ~5.5m 1 5.5  L=270 [ 12

0000541474




R04 |R05 [R06 [RO7 [RO8

A02-015 ~7.5m 2 7.5  L=160 . 15
A02-016 S1 v=2,700m3 | . | . | . | | 3o| |
A02-017 ~12m SOLAS L=500 . 143

£02-018 m = 01

A02-019 -1 v=3,300m3 | . | . | . | | 36| |
£02-020 L=150 | . | . | . | | 39| |
A02-021 L=120m | | . | . | | 20|1.05 |
£02-022 13mx 140m | | . | | | 60| |

0000541474




R04 |R05 [R06 [RO7 [RO8

A02-023 _5.5m _5.5m L=150 . 45
m
£02-024 1.1ha | | . | | 24|3.27
A02-025 ~12.0m ~12.0m . 7
L=300m
NN 2,546 |
HEE 2,54 | |

0000541474




R04 |R05 [R06 [RO7 [RO8

€02-001 | . | . | . | | 60| |

€02-002 BCP T 11
L] n| |
RN n| |

0000541474




RO4

€)) 248

(®) 0

(c=a+b) 248
(D 12

© 226

(f) 34

9

(h = c+d-e-f) 0
(i = (g+h)/(c+d)) 3.46

10

0000541474



| —

NO)|

0000541474



